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= 0800 m

= 2500 m
w= 0200 m
s= 0200 m

YS = 19.00 kN/m3

= 98 kN/m2

ock= 180 N/mm2

ota= 023 N/mm2

oOta = 0.23 N/mm2

ock= 240 N/mm2
Ota = 8.0 N/mm2
osa= 1600 N/mm2

Ta = 039 N/mm2
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1 (g+hl*wys)*K

2 h2 * ys * K

V12*% 1%( +t)2

max  1/24*% 1*( +t)2

/2% 1%( +1)

/2% (1/2* 1+1/6% 2)*h2~2

( 1+1/2*% 2)*h2



hl

h2

max

2500 +1/2* 0200 -1/2*( 0.800 + 0.200 )

1/2 * (0.800 + 0.200 )

( 98 + 2100 * 190 )* 05

0500 * 190 * 05

1/12* 24850 * (0.800 + 0200 )~ 2

1/24* 24850 * (0.800 + 0200 )72

1/2 * 24850 * (0.800 + 0.200 )

1/2 * (1/2 * 24850 + 1/6 * 4.750 )* 05002

(24.850 + 1/2 * 4750 )* 0.500

2.100 m

0.500 m

24.850 kN/m2

4.750 kKN/m2

2071 kKN m

1.035 kN m

12.425 kN

1.652 kN m

13.613 kN



1/6 * * A2
1/6 * 1000 * 200 "2
ot /

2071 *10"6 / 6666667

1/6 * * A2
1/6 * 1000 * 200 2
ot /

1652 * 1076 / 6666667

6666667 mm2

0.3106 N/mm2

0.23 N/mm2

6666667 mm2

0.2478 N/mm2

0.23 N/mm2
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